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QUESTION 1

An administrator is attempting to enable Legacy Fault Tolerance (FT) on a virtual machine and observes the following in
the vSphere Web Client: Fault Tolerance has not been licensed on host . What is the minimum licensed edition that
supports this configuration? 

A. Standard 

B. Enterprise 

C. Enterprise Plus 

D. Essentials Plus 

Correct Answer: A 

Fault Tolerance is not licensed in all editions of VMware vSphere. Check the edition you are running and upgrade to an
edition that includes Fault Tolerance. Reference: http://kb.vmware.com/selfservice/microsites/search.do?
language=en_USandcmd=displayKC andexternalId=1033634 

 

QUESTION 2

An administrator subscribes to the vCloud Air Disaster Recovery service. Which replicated objects can be directly
monitored and managed? 

A. Virtual machine Snapshots 

B. vApps 

C. Virtual machines 

D. ESXi Hosts 

Correct Answer: C 

You use vSphere Replication at your source site to configure your environment and replicate virtual machines to vCloud
Air. You can use vSphere Replication, the vCloud Air portal, or the vCloud Air plug-in to monitor and manage the
replicated virtual machines in the cloud. 

Reference: http://pubs.vmware.com/vchsplugin-15/topic/com.vmware.ICbase/PDF/vca_plugin_using.pdf 

 

QUESTION 3

Refer to the Exhibit. 

2V0-621D PDF Dumps | 2V0-621D VCE Dumps | 2V0-621D Exam Questions                                2 / 5

https://www.leads4pass.com/2v0-621d.html
https://www.leads4pass.com/2v0-621d.html
https://www.leads4pass.com/2v0-621d.html


https://www.leads4pass.com/2v0-621d.html
2024 Latest leads4pass 2V0-621D PDF and VCE dumps Download

An administrator receives an error on a vSphere cluster as shown in the Exhibit. 

Based on the exhibit, which three configuration changes can resolve the error? (Choose three.) 

A. Change the Admission Control policy for the cluster. 

B. Adjust CPU and Memory reservations of the virtual machines. 

C. Increase the amount of failover resources in the cluster. 

D. Reconfigure the ESXi host cluster for High Availability. 

E. Disable Virtual Machine Monitoring. 

Correct Answer: ABC 

This is the case of insufficient resources. Change the admission control policy for the cluster and adjust CPU and
memory reservations of the VMs. The third logical way to address this problem is to increase failover resources in the
cluster. 

 

QUESTION 4

Refer to the Exhibit. 
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An administrator is troubleshooting intermittent poor performance of virtual machines in a vSphere 6.x cluster.
Investigating esxtop data shows that the only statistic that stands out is %CSTP as depicted in Exhibit 1: 

The administrator proceeds to switch to the Power Management screen and observes the data depicted in Exhibit 2: 

Based on the information in the exhibits, which two configurations are probable causes of the poor performance?
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(Choose two.) 

A. The active power policy is set to Low Power. 

B. The host has active Sleep States configured in the BIOS. 

C. The active power policy is set to High Performance. 

D. The host has active Power States configured in the BIOS. 

Correct Answer: AB 

It seems that the active power policy has a low power setting and the host has active sleep states configured in the
BIOS. 

 

QUESTION 5

After deploying a vSphere Platform Services Controller (PSC), an administrator is unable to install vCenter Server. The
error displayed is: 

Could not contact Lookup Service. Please check VM_ssoreg.log. 

Which two actions can be taken to correct this problem? (Choose two.) 

A. Verify that the clocks on the host machines running the PSC, vCenter Server, and the vSphere Web Client are
synchronized. 

B. Configure a valid Identity Source for the Platform Services Controller in the vSphere Web Client. 

C. Ensure that there is no firewall blocking port 7444 between the PSC and vCenter Server. 

D. Uninstall and reinstall the Platform Services Controller software. 

Correct Answer: AC 

Reference: 

http://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKC andexternalId=2033880 
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